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QUESTION 1

Refer to the exhibit. Which statement about this command is true? 

A. It must be configured on each PE router to enable the PE routers to receive multicast traffic for this particular MVRF. 

B. It is used to set the designated router on a link using PIM-SM. 

C. It must be configured on the PE and CE router to enable MP-BGP to send labels for CSC. 

D. It is used to set the router that will server as the root bridge for STP. 

Correct Answer: A 

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr1000/configuration/guide/chassis/asrswcfg/lsmmldp.html 

 

QUESTION 2

Refer to the exhibit. If the two devices are operating normally, which two conclusions can you draw from this
configuration? (Choose two.) 

A. CE1 must use OSPF to establish a neighbor relationship with PE1. 

B. PE1 labels the routes it learns from CE1 with the route-target 222:2 and shares them with its VPNv4 peers. 

C. PE1 labels the routes it learns from CE1 with the route-target 111:1 and shares them with its VPNv4 peers. 

D. The PE-CE routes between the devices are being exchanged by OSPF 

E. CE1 is supporting CSC. 

Correct Answer: AD 
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QUESTION 3

What is a requirement to share VRF reachability information to all members of a VPN when using IPv6? 

A. PE and CE routers must be running BGP as the PE-CE routing protocol 

B. PE routers must have MPLS disabled and be running MP-BGP between all P and PE routers. 

C. PE routers must be running MP-BGP and bgp default ipv4-unicast must be disabled 

D. All PEs must have the same VRFs configured. 

Correct Answer: D 

 

QUESTION 4

You are troubleshooting ARP connectivity issues for an Ethernet interface on an IOS XR network that runs IS-IS. You
verify that the IGP protocol is running, but an ARP entry has not yet been created. Which action should you take? 

A. debug ping packets 

B. debug ARP 

C. ping the connected neighbor 

D. verify the RIB table routes 

Correct Answer: C 

 

QUESTION 5

An engineer is troubleshooting AToM on an IOS XE router and receives an error when creating the xconnect. Which
command does he need to complete to create the xconnect in AToM? 

A. encapsulation mpls 

B. encapsulation 12tpv3 

C. protocol 12tpv3 

D. protocol none 

Correct Answer: A 
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